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LSS SHSEEAMN S EHBERERNENER R

% g R - KSR Bifr B 2 B i & B W =
BRI 9,046,600 + 225,438 9,272,038
EEAGE 9, 046, 600
BE#RE 225, 438
Z O fth SR f 9,046,600 x 53.85% ( 35% + (1 — 35%) ) 4,871,594
BRI 9,272,038 + 4,871,594 14,143,632
—REEES 14,143,632 x 53.85% ( 35% + (1 — 35%) ) — 8577 7,607, 768
EIXEREE 78, 600
KBS 14,143,632 + 7,607,768 +78, 600 21, 830, 000
HETR SR L 21,830,000 x 10.00% 2,183,000
EBEREN 21,830,000 + 2,183,000 24,013, 000
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% L] R - BARSTiE BfL % B B ® # m o=
E#R 9,272,038
ERERMEREERAES 9,272,038
ERERMEREERAES 9,272,038
BREES 9, 046, 600
HREES 415, 450
1 B 1.00 415, 450 415, 450
=
WihRE 706, 200
2 BiRE (HHEHRBRED 1.00 706, 200 706, 200
=
FEIRE DR 2, 642, 550
3 RIEARB DR (HPEHRBRED 1.00 2,642, 550 2,642, 550
=
BHEERMER 4,108, 200
4 BHEENER (BHERRED) 1.00 4,108, 200 4,108, 200
=
BE 622, 000
5 B& (EEHEDER) 1.00 311, 000 311,000
=
6 BE (REEHER) 1.00 311, 000 311,000
=
e - W& 552, 200
1 EATHE 1.00 117, 400 117, 400
=]
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8 kS 1.00 246, 500 246, 500
=

9 HR&®E 1.00 188, 300 188, 300
=]

E#EEE 225,438

EBARE 18,724

10 EHERALE 1.00 18,724 78,724
=

k& 46, 7114

1 k& 1.00 46, 7114 46, 714
=

EBRERE 100, 000

12 £BHEMRE 1.00 100, 000 100, 000
=
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&5 :1
&% FrEEE 14y
2 b g - BIRTE By = B ® # " =
HEnE
A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1YE%HeH - 1.00K 415, 450. 00 415, 450
5:2
£ WHAE  (HEHRRED 14y
2 b g - BIRTE By = B ® # " =
AR (A)
A 4.00 55, 200. 00 220, 800
HEm (B)
A 6. 00 45, 300. 00 271,800
AR (C)
A 6. 00 35, 600. 00 213, 600
& Hi 1E%HeH - 1.00K 706, 200. 00 706, 200
5:3
£ HEREOMER  (HEHRRED 14y
2 b g - BIRTE By = B ® # " =
AR (A)
A 17.50 55, 200. 00 966, 000
HEm (B)
A 17.50 45, 300. 00 792, 750
AR (C)
A 19. 50 35, 600. 00 694, 200
g
A 6. 00 31, 600. 00 189, 600
& B 1E%HeH - 1.00K 2,642, 550.00 2,642,550
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5 4
2% BEERMER  (HMEHRED 1LY
2 b g - BIRTE BT o = B O ® W = " =
AR (A)
A 24.50 55, 200. 00 1,352, 400
HEm (B)
A 26.00 45, 300. 00 1,177, 800
AR (C)
A 39.00 35, 600. 00 1, 388, 400
g
A 6. 00 31, 600. 00 189, 600
& B 1YE%HeH - 1.00K 4,108, 200. 00 4,108, 200
F5 .5
& BE  (RIEIKZEDOMER) 1LY
2 b g - BIRTE BT H = B O ® W E " =
F{EHRAR (F%ET)
A 5.00 62, 200. 00 311,000
& Hi 1E%HeH - 1.00K 311, 000. 00 311,000
&S .6
2% BE (BEERMER 1LY
2 b g - BIRTE BT H = B O ® W E " =
F{EHRAR (F%ET)
A 5.00 62, 200. 00 311,000
& Hi 1E%HeRH - 1.00K 311, 000. 00 311,000
&5 .1
¥ BATHE HEED)
2 b g - BIRTE BT #H = B Ol ® W = " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400
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5:8
& PRERE 1XEY
2 b g - BIRTE By o = B 4 ) W = " =
AR (A)
A 3.00 55, 200. 00 165, 600
e (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
& Hi 1YE%HeH - 1.00K 246, 500. 00 246, 500
5.9
£ EW|E HEED)
2 b g - BIRTE By H = B 4 ) W E " =
HEnE
A 1.00 70, 900. 00 70, 900
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 188, 300. 00 188, 300
&5 :10
&% EHARE 1XEY
2 b g - BIRTE By H = B 4 ) W E " =
EXERARE
= 1.00 78, 724.00 18, 724
& Hi 1E%Heh - 1.00K 78, 724.00 18,724
=11
&% k& 1XEY
2 b g - BIRTE By #H = B 4 ) W = " =
i3
= 1.00 46, 714. 00 46,714
& B 1E%HeH - 1.00K 46, 714. 00 46,714
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THSEENMMABERENEERMEREERAES

&5 .12
& XEFERERE IEED)
£ 5 L - BIRTiE BAf = B & % = & &
EERRMRE
= 1.00 100, 000. 00 100, 000
& Hi 1YE%HeRH 1,00 100, 000. 00 100, 000




